
DECLINE PRESS

FH012



7

8

9

13

14

15







5

1 Ground frame

1 30Right standing frame

1 313 Left stand 1

Upper connection frame

1 33Right arm 1

Left arm bracket 1

Neutral frame 1

Nylon Lock Nut M10 1Counterweight rod frame

39 Barbell plate rod

Adjust the handle pivot 110 Axle

39    bushing11 Roller sleeve 3

Seat cushion adjustment frame 11

13

1

1 Back Pad 1

1 Seat cushion 1

Description QTY Item No Description QTY

31

11 Bumper

19 Front seat cushion adjustment plate 1

0 Rear seat cushion adjustment plate 1

Roller 3

Pipe plugSmall Grip 1

1Plastic Sleeve

Cushion

Put on the gloves

Foot Cover

Snap SpringTorsion Spring 1

1

1 Spring 1

ITEM NO.

1

23



6

39

30

51 11

56

34

43

8

13

27

18

13

30

44

5
30

10

302

44

13
41

37

9
18

12

52

14
1453

9

25

18

43
15

13

27

3

10

27
6

13

43

42
30

30

4

41

9

25

18

30
13

42

12

52

18
9

54
53

14

56
18

55

8

25 1

26

26
26

25
25

26

30

42

32

2242

30

32

40

42

30
42

30
30 30 45

45

30
33

19

3420

49

42

23

48

16

37

42

44

36

35

24

43

27

21



7



8



9

STEP 1

1

42
7

30

42

42

30

3

9

18

30 42

2

4

Item No Description QTY Item No Description QTY

1 Ground frame 1 9 Barbell plate rod 4

2 Right standing frame 1 18 Bumper 4

3 Left stand 1 30 Flat Washer φ13×φ24×1.5 14

4 Upper connection frame 1 42 Socket Head Cap Screw M12×30 14

7 Neutral frame 1



10

STEP 2

Item No Description QTY Item No Description QTY

5 Right arm 1 18 Bumper 2

6 Left arm bracket 1 27 Bearing6206-2Z 4

8 Counterweight rod frame 2 41 Flat Head Cap Screw M12×40 2

10 Axle 2 43 Flat Head Cap Screw M12×30 4

13 End Cap φ54 2

18

56 8 18

43 13 27 5
27

13

10
43

13 41

43 13
10 27 6 27 4313

41 13
8 56

56 Snap Spring 2



11

STEP 3

15

49

35

35

49

48

35

48

16

Item No Description QTY Item No Description QTY

15 Back Pad 1 48 Socket Head Cap Screw M10×30 2

16 Seat cushion 1 49 Socket Head Cap Screw M10×80 2

35 Flat Washer φ11×φ20×2 4



12



13



14


	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15
	页面 16
	页面 17
	页面 18
	页面 19
	页面 20
	页面 21
	页面 22
	页面 23



